1M 22 0ABCD 7} H¥APH O] B & Sh= x, y o gh27

)
o

_15+2y~
3r—4 / )
y %x+y

\ /

B~-~-17---C

DO x=4y=1 @ x=3y=1 ® x=4y=1
@x:5’y:1 @x:5’y:2

B ~
1542y =17, 2y =2

Ly=1

3x-4=2x+1

LX=5




olch /ABC = 70° & W, /APD = ( )°

oIk () el st

@ 60
® 45

o AL

® 55

P C

Fo|BLE /APD = 65° ©]t},




3. o2 1A gABCD 2] Yolt 20em? o], AACE 2] Y o] 8cm?
oltt. AC//DEY u], AABC 9] Ho]=?

A D
B C E
® 8cm? @ 9cm? ® 10cm?
@ 1lcm? @ 12cm?

AACE = AADE = AADC = ACED ©] 11
AABC = DABCD - AACD OB 2
AABC = 20 - 8 = 12(cm?)




